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Roll No……………….. 

M.com-10 (Master of Commerce) 
2nd year, Examination -2012 

M.Com-08 
Cost and Management Accounting 

 
Time: 3 Hours le; 3 ?kaVs      Max Marks:60   
         iw.kkZad% 60 

Note: The question paper is divided into three sections ‘A’ ‘B’ and ‘C’. 
Attempt questions of each section according to given instructions.  

uksV% ;g iz”ui= d] [k vkSj x rhu [k.Mksa esa foHkkftr gSA izR;sd [k.M ds 
funsZ”kkuqlkj iz”uksa ds mRrj nhft,A 

 
Section – A 

[k.M & d 

Long Answer Questions  

¼nh?kZ mRrjh; iz”u½ 

Note: Answer any two questions. Each question carries 15 marks 

uksV% fdUgha nks iz”uksa ds mRrj nhft,A izR;sd iz”u 15 vadksa dk Gsa 

        15×2=30 

1. Define Cost Accounting. Describe briefly various types of costing. 
ykxr ys[kkadu dh ifjHkk’kk nhft,A ykxr ys[kkadu ds fofHkUu izdkjksa dk 
la{ksi esa o.kZu dhft,A 
 

2. Define the term ‘Budget’ as used in cost Accounting and explain what is 
meant by ‘Budgetary Control’ what are its advantages to the concern? 
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ykxr ys[kkfof/k ds lUnHkZ esa ^ctV^ “kCn dh ifjHkk’kk nhft, vkSj crkb, fd 
^ctVjh fu;U=.k D;k gSa rFkk laLFkk dks D;k ykHk gksrk gS\ 
 

3. The finished product of factory has to pass through three process ‘A’ ‘B’ 
and ‘C’. The normal wastage of each process is 2% in A, 5% in B, and 
10% in C. The percentage of wastage is computed on the number 
values of wastage of processes. A, B and C are Rs10, Rs 4 and Rs 20 
per 100 units respectively. 
The output of each process is transferred to the next process and the 
finished products are transferred from C into stock. The following further 
information is obtained: 
     Process A  Process B 
 Process C 
Material consumed  12,000  4,000  4,000 
Direct Labour   8,000   6,000  6,000 
Manufacturing Expenses 2,000   4,000  2,000 
20,000 units were put into process A at the cost of Rs 16000. the output 
of each process has been: A 19,600 units, B 18,400 units, C 16700 
units.  
There is no stock or work in progress in any process. Prepare the 
process accounts. 
 
,d QSDVªh dk fufeZr eky rhu fofHkUu izfdz;kvksa ls gksdj xqtjrk gS ¼A, 
B ,oa C½A izR;sd izfdz;k esa lkekU; {k; fuEu gS A 2% , B 5%, ,oa C 
10%A izR;sd n”kk esa {k; dh izfr”kr~ izfdz;k esa izos”k dj jgh bdkbZ;ksa 
dh l[;kW ij Kkr dh tkrh gSA {k; dk vo”ks’k ewY; fuEu izdkj gS%  A 
10 :0 izfr 100 bdkbZ;kW] B 40 :0 izfr 100 bdkbZ;kW ,oa C 20 :0 izfr 
100 bdkbZ;kWA izR;sd izfdz;k dk mRiknu nwljh izfdz;k dks rqjUr Hkst 
fn;k tkrk gS rFkk fufeZr bdkbZ;kW C izfdz;k ls LVkWd esa Hkst nh tkrh gS 
fuEufyf[kr lwpuk;sa izkIr gS 
izfdz;k A  izfdz;k B   izfdz;k C 
iz;qDr lkexzh    12,000  4,000  
 4,000  
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izR;{k Je      8,000   6,000  
 6,000 
fuekZ.k O;;     2,000  4,000  
 2,000 
:0 16000 dh ykxr ls 20000 bdkbZ;kW izfdz;k A dks fuxZfer dh x;hA 
izR;sd izfdz;k dk mRiknu fuEu izdkj jgk% 
izfdz;k A 19600 bdkbZ;kW] izfdz;k B 18400 bdkbZ;kW] izfdz;k C 16700 
bdkbZ;kWA fdlh Hkh izfdz;k esa LVkWd ;k pkyw dk;Z ugha gSA izfdz;k [kkrs 
rS;kj dhft,A     
4. Directors of ‘B’ company prepares the following budget for the 

coming year- sales (1,00,000 units) Rs. 1,00,000; Variable costs Rs 
40000/-, Fixed costs Rs 50,000. 
(a). find out P/V ratio, Break-even point and margin of safety 
(b) Estimate the effect of the following- 
(i). 20% increase in selling quantity 
(ii). 5% increase in variable costs. 
(iii). 10% increase in fixed costs. 
 

  ^c^ dEiuh ds lapkydks us vkus okys o’kZ ds fy, fuEu ctV cuk;k%& fodz; 
¼1]00]000 bdkbZ;kW½ :0 1]00]000] ifjkorZu”khy ykxrs :040]000] fLFkj ykxrsa 
:0 50]000A  
¼v½ ykHk@ek=k vuqikr] lefoPNsn fcUnq ,oa lqj{kk lhek Kkr dhft,A 
¼c½ fuEu dk izHkko vuqekfur dhft, 
(i). fodz; ek=k esa 20% o`f} 
(ii). ifjorZu “khy ykxr esa 5%òf} . 
(iii). fLFkj ykxr esa 10% o`f} 
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Section –B 
[k.M&[k  

 
Short Answer Questions. y?kq mRrjh; iz”u  
 
Note: Answer any 4 questions. Each question carries 5 marks. 
uksV% fdUgha 4 iz”uksa dk mRrj nhft,A izR;sd iz”u 5 vadksa dk gSA  

4×5=20 
1. What is Economic order Quantity? 

ferO;;h vkns”k ek=k D;k gS\ 
 

2. Write a note on Labour Turnover Control 
Je vkorZ fu;a=.k ij fVIi.kh fyf[k,A 
 

3. What do you understand by overheads 
vifjO;; ls vki D;k le>rs gS\  
 

4. What is a job order costing? 
midk;Z vkns”k ykxr fof/k D;k gSa\  
 

5. Prepare a cash flows statement by using imaginary figures (at least 
eight items in total) 
dfYir vkWdM+ksa ls ¼de ls de vkB½ ,d jksdM+ izokg fooj.k cukb,A 
 

6. If current ratio is 2.5 times and current liabilities are Rs 40,000. 
Calculate current assets. 
;fn pkyw vuqikr 2-5 xquk gS rfkk pkyw nkf;Ro :0 40]000 gS rks pkyw 
lEifRr dh x.kuk dhft,A 
 

7. Explain the time Variance 
fuf’dz; le; fopj.kka”k le>kb,A 
 

8. What is Zero base budgeting? 
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“kwU; ij vk/kkfjr ctV D;k gS\ 
 

Section- C 
    [k.M&Xk 

Objectives Questions (Compulsory)  
oLrqfu’B iz”u¼vfuok;Z½ 

10×1=10 
Note: Answer all questions. Each Question carries 01 mark  
uksV% lHkh iz”uksa ds mRrj nhft,A izR;sd iz”u 01 vad dk gSA 
Fill in the Blanks 
fjDr LFkkuksa dh iwfrZ dhft,A 
1. In marginal costing, costs are classified in fixed and 

…………………costs. 
lhekar ykxr fof/k esa ykxrksa dks fLdV rFkk ---------------------------------
ykxrksa esa oxhZd`r fd;k tkrk gSA 
 

2. Cash flow statement is based upon ……………….basis 
accounting. 
jksdM+ izokg fooj.k ys[kkadu ds ----------------------------------vk/kkj ij 
vk/kkfjr gSA 
 

3. Owner’s equity = Total Capital + …………………………. 
“kq} LokfeRo  = dqy iwWth + ……………………………….. 
 

4. Fixed cost remain…………………..of increase or decrease of 
production quantity. 
LFkk;h ykxr mRiknu dh ek=k ds ?kVus ;k c<+us ij ------------------------- 
jgrh gSA 
 

5. Sales – Variable cost = 
fodz; – ifjorZu”khy ykxr = 
fuEu ds lkeus lR;@vlR; fyf[k;s 
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6. In capital gearing Ratio, The comparison is made between 

internal and external capital. 
iwWth feyku vuqikr esa vkfUrfjd iwWth o ckg~; iwWth dh rqyuk dh 
tkrh gSA 
 

7. Budgeting is a profit planning 
ctfVax ,d ykHk ;kstuk gSA 
 

8. Total of actual Quantity and revised standard quantity equal 
okLrfod lkexzh vkSj la”kksf/kr lkexzh ek=k dk ;ksx cjkcj gksrk 
gSA 
 

9. All price variances are uncontrollable  
lHkh dher fopj.k vfu;U=.kh; gksrs gSA 
 

10. Operating net profit = Net Profit + Non operating expenses – Non 
operating income. 
lapkyu “kq} = ykHk “kq} + ykHk xSj lapkyu O;; –  XkSj lapkyu 
vk;A 
 

 

 


